

LITTLETON 43444 NON-FEDERAL

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	LITTLETON 43444 NON-FEDERAL July 14, 2022, 2:00 PM NH 135 Bridge Preservation efforts for NH135 over I-93 in Littleton(Br. No. 185/090). October 06, 2023 Grafton, District 1	Awarded To: Amount: Award Date:	PIPER, R. M. INC. PO BOX 490 PLYMOUTH, NH 03264 \$1,689,320.50	Certified by:	PETER.E.STAMNAS Director of Project Development	
	Summary of Bid	ders				
Contractor					Bid Amount	Rank
PIPER, R. M. INC. PO BOX 490, PLYN	1OUTH NH 03264				\$1,689,320.50	A
BECK & BELLUCCI ,IN PO BOX 429, FRAM					\$1,833,424.66	В
WINTERSET, INC. PO BOX 968, LYNE	OONVILLE VT 05851-0968				\$1,855,664.30	С
SICARD INC, J P 234 GLOVER ROA	D, BARTON VT 05822				\$1,947,154.00	D
EVROKS CORPORAT 23 INDUSTRIAL DF	ION RIVE, NORTHFIELD NH 03276				\$2,086,812.00	E
NEW ENGLAND INFR 16 BRENT DRIVE,	ASTRUCTURE INC HUDSON MA 01749				\$2,478,000.00	F



LITTLETON

43444

					PS&E	PO	R. M. INC. 30X 490 TH, NH 03264	PO E	ELLUCCI ,INC. 30X 429 IN, NH 03235
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

			1						
202.6	CURB REMOVAL FOR SALVAGE	LF	2,950.00	\$6.00	\$17,700.00	\$3.50	\$10,325.00	\$7.00	\$20,650.00
203.1	COMMON EXCAVATION	СҮ	450.00	\$30.00	\$13,500.00	\$40.00	\$18,000.00	\$55.00	\$24,750.00
206.1	COMMON STRUCTURE EXCAVATION	CY	120.00	\$75.00	\$9,000.00	\$40.00	\$4,800.00	\$75.00	\$9,000.00
304.301	CRUSHED GRAVEL	СҮ	220.00	\$45.00	\$9,900.00	\$40.00	\$8,800.00	\$65.00	\$14,300.00
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	524.00	\$100.00	\$52,400.00	\$140.00	\$73,360.00	\$137.00	\$71,788.00
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	970.00	\$100.00	\$97,000.00	\$140.00	\$135,800.00	\$137.00	\$132,890.00
403.16	PAVEMENT JOINT ADHESIVE	LF	14,650.00	\$0.65	\$9,522.50	\$0.80	\$11,720.00	\$0.61	\$8,936.50
403.19	HBP-TEMPORARY	TON	23.00	\$100.00	\$2,300.00	\$250.00	\$5,750.00	\$250.00	\$5,750.00
403.21053	HBP-3/8" MIX, MACHINE METHOD (BRIDGE BASE)	TON	110.00	\$200.00	\$22,000.00	\$225.00	\$24,750.00	\$225.00	\$24,750.00
403.26	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	2,050.00	\$1.00	\$2,050.00	\$2.25	\$4,612.50	\$2.20	\$4,510.00
403.29	HBP-TEMPORARY (BRIDGE)	TON	32.00	\$155.00	\$4,960.00	\$350.00	\$11,200.00	\$250.00	\$8,000.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	950.00	\$5.50	\$5,225.00	\$16.00	\$15,200.00	\$17.00	\$16,150.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	9,400.00	\$6.00	\$56,400.00	\$3.60	\$33,840.00	\$3.75	\$35,250.00
502.	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$75,000.00	\$75,000.00	\$190,000.00	\$190,000.00	\$225,000.00	\$225,000.00
504.1	COMMON BRIDGE EXCAVATION (F)	СҮ	60.00	\$50.00	\$3,000.00	\$50.00	\$3,000.00	\$65.00	\$3,900.00
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	1,924.00	\$20.00	\$38,480.00	\$12.00	\$23,088.00	\$25.00	\$48,100.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	192.00	\$400.00	\$76,800.00	\$375.00	\$72,000.00	\$600.00	\$115,200.00
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	10.00	\$800.00	\$8,000.00	\$600.00	\$6,000.00	\$1,000.00	\$10,000.00
520.01	CONCRETE CLASS AA	СҮ	52.00	\$1,100.00	\$57,200.00	\$850.00	\$44,200.00	\$500.00	\$26,000.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	СҮ	32.00	\$1,600.00	\$51,200.00	\$1,200.00	\$38,400.00	\$2,200.00	\$70,400.00
520.02013	CONCRETE CLASS AA, ABOVE FOOTINGS (FULL DECK REPAIR)	CY	3.00	\$1,400.00	\$4,200.00	\$1,200.00	\$3,600.00	\$4,400.00	\$13,200.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	180.00	\$100.00	\$18,000.00	\$100.00	\$18,000.00	\$115.00	\$20,700.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	62.00	\$55.00	\$3,410.00	\$80.00	\$4,960.00	\$55.00	\$3,410.00



LITTLETON

43444

					PS&E	PO	R, R. M. INC. BOX 490 JTH, NH 03264	PO	BELLUCCI ,INC. BOX 429 IN, NH 03235
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	1,924.00	\$25.00	\$48,100.00	\$24.50	\$47,138.00	\$25.00	\$48,100.00
540.511	GALVANIC CORROSION PROTECTION SYSTEM (DISTRIBUTED ANODES)	LF	148.00	\$50.00	\$7,400.00	\$50.00	\$7,400.00	\$55.00	\$8,140.00
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	1,700.00	\$35.00	\$59,500.00	\$40.00	\$68,000.00	\$19.00	\$32,300.00
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	147.00	\$10.00	\$1,470.00	\$12.00	\$1,764.00	\$13.00	\$1,911.00
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	2,398.00	\$3.00	\$7,194.00	\$2.50	\$5,995.00	\$5.92	\$14,196.16
544.21	REINFORCING STEEL, EPOXY COATED, MECHANICAL CONNECTORS (F)	LB	126.00	\$7.00	\$882.00	\$7.00	\$882.00	\$12.70	\$1,600.20
561.1001	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	74.00	\$800.00	\$59,200.00	\$1,200.00	\$88,800.00	\$1,000.00	\$74,000.00
561.1002	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	74.00	\$800.00	\$59,200.00	\$1,200.00	\$88,800.00	\$1,000.00	\$74,000.00
562.1	SILICONE JOINT SEALANT (F)	LF	10.00	\$35.00	\$350.00	\$40.00	\$400.00	\$30.00	\$300.00
604.0007	POLYETHYLENE LINER	EA	4.00	\$200.00	\$800.00	\$250.00	\$1,000.00	\$425.00	\$1,700.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	4.00	\$550.00	\$2,200.00	\$700.00	\$2,800.00	\$1,200.00	\$4,800.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	430.00	\$35.00	\$15,050.00	\$25.00	\$10,750.00	\$35.00	\$15,050.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	800.00	\$75.00	\$60,000.00	\$70.00	\$56,000.00	\$55.00	\$44,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00	\$3,500.00	\$7,000.00
609.5	RESET GRANITE CURB	LF	16.00	\$50.00	\$800.00	\$40.00	\$640.00	\$40.00	\$640.00
609.55	RESET GRANITE CURB (BRIDGE)	LF	30.00	\$120.00	\$3,600.00	\$80.00	\$2,400.00	\$125.00	\$3,750.00
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	6.00	\$600.00	\$3,600.00	\$500.00	\$3,000.00	\$50.00	\$300.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
618.7	FLAGGERS	HR	3,500.00	\$50.00	\$175,000.00	\$50.00	\$175,000.00	\$52.80	\$184,800.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$20,000.00	\$20,000.00	\$65,000.00	\$65,000.00	\$75,000.00	\$75,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,500.00	\$7,000.00	\$6,500.00	\$13,000.00	\$4,000.00	\$8,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,500.00	\$7,000.00	\$5,500.00	\$11,000.00	\$3,000.00	\$6,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	2,910.00	\$5.50	\$16,005.00	\$3.00	\$8,730.00	\$2.00	\$5,820.00
628.22	SAWED BITUMINOUS PAVEMENT (BRIDGE)	LF	690.00	\$3.20	\$2,208.00	\$3.00	\$2,070.00	\$2.00	\$1,380.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	29,800.00	\$0.50	\$14,900.00	\$0.27	\$8,046.00	\$0.26	\$7,748.00



LITTLETON

43444

					PS&E	PO	ч, R. M. INC. ВОХ 490 ITH, NH 03264	PO	IELLUCCI ,INC. BOX 429 IN, NH 03235
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	152.00	\$4.00	\$608.00	\$5.50	\$836.00	\$5.50	\$836.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	4,700.00	\$2.00	\$9,400.00	\$2.50	\$11,750.00	\$3.00	\$14,100.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	7,200.00	\$1.00	\$7,200.00	\$1.20	\$8,640.00	\$1.10	\$7,920.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	152.00	\$3.50	\$532.00	\$4.50	\$684.00	\$4.40	\$668.80
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$4,000.00	\$8,000.00	\$6,500.00	\$13,000.00	\$4,000.00	\$8,000.00
670.95	TEMPORARY SAFETY FENCE	LF	1,620.00	\$5.00	\$8,100.00	\$4.50	\$7,290.00	\$9.00	\$14,580.00
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$137,500.00	\$137,500.00	\$175,000.00	\$175,000.00
698.13	FIELD OFFICE TYPE C	MON	9.00	\$2,000.00	\$18,000.00	\$900.00	\$8,100.00	\$1,850.00	\$16,650.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
			Totals:		\$1,433,046.50		\$1,689,320.50		\$1,833,424.66
			Alt. Totals:						
			Totals:		\$1,433,046.50		\$1,689,320.50		\$1,833,424.66



LITTLETON

43444

						PS&E	PO	RSET, INC. BOX 968 .E, VT 05851-0968	234 GLC	D INC, J P IVER ROAD N, VT 05822
Iten	n No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

			1						
202.6	CURB REMOVAL FOR SALVAGE	LF	2,950.00	\$6.00	\$17,700.00	\$4.50	\$13,275.00	\$4.00	\$11,800.00
203.1	COMMON EXCAVATION	СҮ	450.00	\$30.00	\$13,500.00	\$21.00	\$9,450.00	\$30.00	\$13,500.00
206.1	COMMON STRUCTURE EXCAVATION	CY	120.00	\$75.00	\$9,000.00	\$41.00	\$4,920.00	\$80.00	\$9,600.00
304.301	CRUSHED GRAVEL	CY	220.00	\$45.00	\$9,900.00	\$57.00	\$12,540.00	\$74.00	\$16,280.00
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	524.00	\$100.00	\$52,400.00	\$130.00	\$68,120.00	\$175.00	\$91,700.00
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	970.00	\$100.00	\$97,000.00	\$130.00	\$126,100.00	\$202.00	\$195,940.00
403.16	PAVEMENT JOINT ADHESIVE	LF	14,650.00	\$0.65	\$9,522.50	\$0.30	\$4,395.00	\$0.32	\$4,688.00
403.19	HBP-TEMPORARY	TON	23.00	\$100.00	\$2,300.00	\$237.00	\$5,451.00	\$447.00	\$10,281.00
403.21053	HBP-3/8" MIX, MACHINE METHOD (BRIDGE BASE)	TON	110.00	\$200.00	\$22,000.00	\$215.00	\$23,650.00	\$256.00	\$28,160.00
403.26	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	2,050.00	\$1.00	\$2,050.00	\$0.30	\$615.00	\$0.32	\$656.00
403.29	HBP-TEMPORARY (BRIDGE)	TON	32.00	\$155.00	\$4,960.00	\$237.00	\$7,584.00	\$517.00	\$16,544.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	950.00	\$5.50	\$5,225.00	\$16.00	\$15,200.00	\$12.00	\$11,400.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	9,400.00	\$6.00	\$56,400.00	\$3.45	\$32,430.00	\$6.00	\$56,400.00
502.	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$75,000.00	\$75,000.00	\$270,000.00	\$270,000.00	\$232,691.00	\$232,691.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	60.00	\$50.00	\$3,000.00	\$69.00	\$4,140.00	\$48.00	\$2,880.00
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	1,924.00	\$20.00	\$38,480.00	\$18.60	\$35,786.40	\$23.00	\$44,252.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	192.00	\$400.00	\$76,800.00	\$450.00	\$86,400.00	\$450.00	\$86,400.00
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	10.00	\$800.00	\$8,000.00	\$800.00	\$8,000.00	\$1,875.00	\$18,750.00
520.01	CONCRETE CLASS AA	CY	52.00	\$1,100.00	\$57,200.00	\$640.00	\$33,280.00	\$860.00	\$44,720.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	32.00	\$1,600.00	\$51,200.00	\$2,775.00	\$88,800.00	\$1,500.00	\$48,000.00
520.02013	CONCRETE CLASS AA, ABOVE FOOTINGS (FULL DECK REPAIR)	СҮ	3.00	\$1,400.00	\$4,200.00	\$1,500.00	\$4,500.00	\$2,500.00	\$7,500.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	180.00	\$100.00	\$18,000.00	\$88.00	\$15,840.00	\$109.00	\$19,620.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	62.00	\$55.00	\$3,410.00	\$75.00	\$4,650.00	\$59.00	\$3,658.00



LITTLETON

43444

					PS&E	PO	ERSET, INC. BOX 968 LE, VT 05851-0968	234 GL	RD INC, J P DVER ROAD N, VT 05822
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	1,924.00	\$25.00	\$48,100.00	\$23.00	\$44,252.00	\$26.00	\$50,024.00
540.511	GALVANIC CORROSION PROTECTION SYSTEM (DISTRIBUTED ANODES)	LF	148.00	\$50.00	\$7,400.00	\$52.00	\$7,696.00	\$54.00	\$7,992.00
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	1,700.00	\$35.00	\$59,500.00	\$40.00	\$68,000.00	\$29.00	\$49,300.00
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	147.00	\$10.00	\$1,470.00	\$13.00	\$1,911.00	\$14.00	\$2,058.00
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	2,398.00	\$3.00	\$7,194.00	\$4.00	\$9,592.00	\$4.00	\$9,592.00
544.21	REINFORCING STEEL, EPOXY COATED, MECHANICAL CONNECTORS (F)	LB	126.00	\$7.00	\$882.00	\$10.00	\$1,260.00	\$30.00	\$3,780.00
561.1001	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	74.00	\$800.00	\$59,200.00	\$1,025.00	\$75,850.00	\$1,000.00	\$74,000.00
561.1002	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	74.00	\$800.00	\$59,200.00	\$1,025.00	\$75,850.00	\$1,000.00	\$74,000.00
562.1	SILICONE JOINT SEALANT (F)	LF	10.00	\$35.00	\$350.00	\$17.00	\$170.00	\$37.00	\$370.00
604.0007	POLYETHYLENE LINER	EA	4.00	\$200.00	\$800.00	\$335.00	\$1,340.00	\$400.00	\$1,600.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	4.00	\$550.00	\$2,200.00	\$900.00	\$3,600.00	\$1,200.00	\$4,800.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	430.00	\$35.00	\$15,050.00	\$38.00	\$16,340.00	\$59.00	\$25,370.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	800.00	\$75.00	\$60,000.00	\$130.00	\$104,000.00	\$89.00	\$71,200.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$6,950.00	\$13,900.00	\$4,000.00	\$8,000.00
609.5	RESET GRANITE CURB	LF	16.00	\$50.00	\$800.00	\$26.00	\$416.00	\$113.00	\$1,808.00
609.55	RESET GRANITE CURB (BRIDGE)	LF	30.00	\$120.00	\$3,600.00	\$33.00	\$990.00	\$167.00	\$5,010.00
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	6.00	\$600.00	\$3,600.00	\$40.00	\$240.00	\$78.00	\$468.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
618.7	FLAGGERS	HR	3,500.00	\$50.00	\$175,000.00	\$46.00	\$161,000.00	\$15.00	\$52,500.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00	\$131,560.00	\$131,560.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,500.00	\$7,000.00	\$6,950.00	\$13,900.00	\$7,550.00	\$15,100.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,500.00	\$7,000.00	\$5,025.00	\$10,050.00	\$6,700.00	\$13,400.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	2,910.00	\$5.50	\$16,005.00	\$2.65	\$7,711.50	\$3.00	\$8,730.00
628.22	SAWED BITUMINOUS PAVEMENT (BRIDGE)	LF	690.00	\$3.20	\$2,208.00	\$2.80	\$1,932.00	\$3.00	\$2,070.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	29,800.00	\$0.50	\$14,900.00	\$0.25	\$7,450.00	\$0.25	\$7,450.00





43444

					PS&E	PO	RSET, INC. BOX 968 LE, VT 05851-0968	234 GL0	RD INC, J P DVER ROAD IN, VT 05822
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	152.00	\$4.00	\$608.00	\$5.25	\$798.00	\$5.00	\$760.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	4,700.00	\$2.00	\$9,400.00	\$2.85	\$13,395.00	\$3.00	\$14,100.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	7,200.00	\$1.00	\$7,200.00	\$1.05	\$7,560.00	\$2.00	\$14,400.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	152.00	\$3.50	\$532.00	\$4.20	\$638.40	\$6.00	\$912.00
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$4,000.00	\$8,000.00	\$6,300.00	\$12,600.00	\$4,000.00	\$8,000.00
670.95	TEMPORARY SAFETY FENCE	LF	1,620.00	\$5.00	\$8,100.00	\$5.80	\$9,396.00	\$7.00	\$11,340.00
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$180,000.00	\$180,000.00	\$229,640.00	\$229,640.00
698.13	FIELD OFFICE TYPE C	MON	9.00	\$2,000.00	\$18,000.00	\$1,800.00	\$16,200.00	\$1,100.00	\$9,900.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
			Totals:		\$1,433,046.50		\$1,855,664.30		\$1,947,154.00
			Alt. Totals:						
			Totals:		\$1,433,046.50		\$1,855,664.30		\$1,947,154.00



LITTLETON

43444

					°S&E	23 INDUS	ORPORATION TRIAL DRIVE ELD, NH 03276	16 BRE	FRASTRUCTURE INC INT DRIVE I, MA 01749
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.6	CURB REMOVAL FOR SALVAGE	LF	2,950.00	\$6.00	\$17,700.00	\$8.50	\$25,075.00	\$5.00	\$14,750.00
203.1	COMMON EXCAVATION	сү	450.00	\$30.00	\$13,500.00	\$40.00	\$18,000.00	\$60.00	\$27,000.00
206.1		сү	120.00	\$75.00	\$9.000.00	\$90.00	\$10.800.00	\$260.00	\$31,200.00
304.301	CRUSHED GRAVEL	CY	220.00	\$45.00	\$9,900.00	\$90.00	\$19,800.00	\$55.00	\$12,100.00
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	524.00	\$100.00	\$52,400.00	\$178.00	\$93,272.00	\$180.00	\$94,320.00
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	970.00	\$100.00	\$97,000.00	\$210.00	\$203,700.00	\$205.00	\$198,850.00
403.16	PAVEMENT JOINT ADHESIVE	LF	14,650.00	\$0.65	\$9,522.50	\$0.55	\$8,057.50	\$0.60	\$8,790.00
403.19	HBP-TEMPORARY	TON	23.00	\$100.00	\$2,300.00	\$365.00	\$8,395.00	\$310.00	\$7,130.00
403.21053	HBP-3/8" MIX, MACHINE METHOD (BRIDGE BASE)	TON	110.00	\$200.00	\$22,000.00	\$250.00	\$27,500.00	\$270.00	\$29,700.00
403.26	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	2,050.00	\$1.00	\$2,050.00	\$3.50	\$7,175.00	\$3.50	\$7,175.00
403.29	HBP-TEMPORARY (BRIDGE)	TON	32.00	\$155.00	\$4,960.00	\$400.00	\$12,800.00	\$310.00	\$9,920.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	950.00	\$5.50	\$5,225.00	\$11.00	\$10,450.00	\$12.00	\$11,400.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	9,400.00	\$6.00	\$56,400.00	\$4.75	\$44,650.00	\$8.00	\$75,200.00
502.	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$75,000.00	\$75,000.00	\$365,000.00	\$365,000.00	\$400,000.00	\$400,000.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	60.00	\$50.00	\$3,000.00	\$50.00	\$3,000.00	\$200.00	\$12,000.00
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	1,924.00	\$20.00	\$38,480.00	\$25.00	\$48,100.00	\$21.00	\$40,404.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	192.00	\$400.00	\$76,800.00	\$390.00	\$74,880.00	\$400.00	\$76,800.00
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	10.00	\$800.00	\$8,000.00	\$1,000.00	\$10,000.00	\$1,500.00	\$15,000.00
520.01	CONCRETE CLASS AA	CY	52.00	\$1,100.00	\$57,200.00	\$960.00	\$49,920.00	\$1,500.00	\$78,000.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	СҮ	32.00	\$1,600.00	\$51,200.00	\$3,200.00	\$102,400.00	\$1,600.00	\$51,200.00
520.02013	CONCRETE CLASS AA, ABOVE FOOTINGS (FULL DECK REPAIR)	CY	3.00	\$1,400.00	\$4,200.00	\$2,700.00	\$8,100.00	\$6,500.00	\$19,500.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	180.00	\$100.00	\$18,000.00	\$125.00	\$22,500.00	\$90.00	\$16,200.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	62.00	\$55.00	\$3,410.00	\$85.00	\$5,270.00	\$90.00	\$5,580.00



LITTLETON

43444

					PS&E	23 INDU	CORPORATION STRIAL DRIVE ELD, NH 03276	16 BR	NFRASTRUCTURE INC ENT DRIVE N, MA 01749
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	1,924.00	\$25.00	\$48,100.00	\$28.00	\$53,872.00	\$35.00	\$67,340.00
540.511	GALVANIC CORROSION PROTECTION SYSTEM (DISTRIBUTED ANODES)	LF	148.00	\$50.00	\$7,400.00	\$60.00	\$8,880.00	\$80.00	\$11,840.00
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	1,700.00	\$35.00	\$59,500.00	\$23.00	\$39,100.00	\$20.00	\$34,000.00
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	147.00	\$10.00	\$1,470.00	\$15.00	\$2,205.00	\$23.00	\$3,381.00
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	2,398.00	\$3.00	\$7,194.00	\$6.25	\$14,987.50	\$3.40	\$8,153.20
544.21	REINFORCING STEEL, EPOXY COATED, MECHANICAL CONNECTORS (F)	LB	126.00	\$7.00	\$882.00	\$15.00	\$1,890.00	\$35.00	\$4,410.00
561.1001	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	74.00	\$800.00	\$59,200.00	\$900.00	\$66,600.00	\$1,200.00	\$88,800.00
561.1002	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	74.00	\$800.00	\$59,200.00	\$900.00	\$66,600.00	\$1,200.00	\$88,800.00
562.1	SILICONE JOINT SEALANT (F)	LF	10.00	\$35.00	\$350.00	\$30.00	\$300.00	\$50.00	\$500.00
604.0007	POLYETHYLENE LINER	EA	4.00	\$200.00	\$800.00	\$250.00	\$1,000.00	\$500.00	\$2,000.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	4.00	\$550.00	\$2,200.00	\$700.00	\$2,800.00	\$700.00	\$2,800.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	430.00	\$35.00	\$15,050.00	\$40.50	\$17,415.00	\$118.00	\$50,740.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	800.00	\$75.00	\$60,000.00	\$60.00	\$48,000.00	\$118.00	\$94,400.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00	\$6,000.00	\$12,000.00
609.5	RESET GRANITE CURB	LF	16.00	\$50.00	\$800.00	\$75.00	\$1,200.00	\$90.00	\$1,440.00
609.55	RESET GRANITE CURB (BRIDGE)	LF	30.00	\$120.00	\$3,600.00	\$100.00	\$3,000.00	\$90.00	\$2,700.00
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	6.00	\$600.00	\$3,600.00	\$300.00	\$1,800.00	\$400.00	\$2,400.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
618.7	FLAGGERS	HR	3,500.00	\$50.00	\$175,000.00	\$35.00	\$122,500.00	\$1.00	\$3,500.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$20,000.00	\$20,000.00	\$75,000.00	\$75,000.00	\$340,004.80	\$340,004.80
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,500.00	\$7,000.00	\$7,500.00	\$15,000.00	\$9,000.00	\$18,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,500.00	\$7,000.00	\$5,500.00	\$11,000.00	\$7,000.00	\$14,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	2,910.00	\$5.50	\$16,005.00	\$3.00	\$8,730.00	\$3.00	\$8,730.00
628.22	SAWED BITUMINOUS PAVEMENT (BRIDGE)	LF	690.00	\$3.20	\$2,208.00	\$6.00	\$4,140.00	\$6.00	\$4,140.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	29,800.00	\$0.50	\$14,900.00	\$0.50	\$14,900.00	\$0.25	\$7,450.00



LITTLETON

43444

				PS&E		EVROKS CORPORATION 23 INDUSTRIAL DRIVE NORTHFIELD, NH 03276		NEW ENGLAND INFRASTRUCTURE INC 16 BRENT DRIVE HUDSON, MA 01749	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	152.00	\$4.00	\$608.00	\$5.00	\$760.00	\$6.00	\$912.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	4,700.00	\$2.00	\$9,400.00	\$2.10	\$9,870.00	\$3.20	\$15,040.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	7,200.00	\$1.00	\$7,200.00	\$1.00	\$7,200.00	\$1.20	\$8,640.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	152.00	\$3.50	\$532.00	\$4.00	\$608.00	\$5.00	\$760.00
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$4,000.00	\$8,000.00	\$5,000.00	\$10,000.00	\$8,000.00	\$16,000.00
670.95	TEMPORARY SAFETY FENCE	LF	1,620.00	\$5.00	\$8,100.00	\$8.00	\$12,960.00	\$15.00	\$24,300.00
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$193,000.00	\$193,000.00	\$210,000.00	\$210,000.00
698.13	FIELD OFFICE TYPE C	MON	9.00	\$2,000.00	\$18,000.00	\$2,350.00	\$21,150.00	\$2,900.00	\$26,100.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
			Totals:		\$1,433,046.50		\$2,086,812.00		\$2,478,000.00
			Alt. Totals:						
			\$1,433,046.50		\$2,086,812.00		\$2,478,000.00		



43444

Item No.			Quantity	A-Bidder		PS&E		
	Description	Unit		Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.6	CURB REMOVAL FOR SALVAGE	LF	2,950.00	\$3.50	\$10,325.00	\$6.00	\$17,700.00	(\$7,375.00)
203.1	COMMON EXCAVATION	CY	450.00	\$40.00	\$18,000.00	\$30.00	\$13,500.00	\$4,500.00
206.1	COMMON STRUCTURE EXCAVATION	CY	120.00	\$40.00	\$4,800.00	\$75.00	\$9,000.00	(\$4,200.00)
304.301	CRUSHED GRAVEL	CY	220.00	\$40.00	\$8,800.00	\$45.00	\$9,900.00	(\$1,100.00)
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	524.00	\$140.00	\$73,360.00	\$100.00	\$52,400.00	\$20,960.00
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	970.00	\$140.00	\$135,800.00	\$100.00	\$97,000.00	\$38,800.00
403.16	PAVEMENT JOINT ADHESIVE	LF	14,650.00	\$0.80	\$11,720.00	\$0.65	\$9,522.50	\$2,197.50
403.19	HBP-TEMPORARY	TON	23.00	\$250.00	\$5,750.00	\$100.00	\$2,300.00	\$3,450.00
403.21053	HBP-3/8" MIX, MACHINE METHOD (BRIDGE BASE)	TON	110.00	\$225.00	\$24,750.00	\$200.00	\$22,000.00	\$2,750.00
403.26	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	2,050.00	\$2.25	\$4,612.50	\$1.00	\$2,050.00	\$2,562.50
403.29	HBP-TEMPORARY (BRIDGE)	TON	32.00	\$350.00	\$11,200.00	\$155.00	\$4,960.00	\$6,240.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	950.00	\$16.00	\$15,200.00	\$5.50	\$5,225.00	\$9,975.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	9,400.00	\$3.60	\$33,840.00	\$6.00	\$56,400.00	(\$22,560.00)
502.	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$190,000.00	\$190,000.00	\$75,000.00	\$75,000.00	\$115,000.00



43444

				A-Bide	der	PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
504.1	COMMON BRIDGE EXCAVATION (F)	CY	60.00	\$50.00	\$3,000.00	\$50.00	\$3,000.00	\$0.00
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	1,924.00	\$12.00	\$23,088.00	\$20.00	\$38,480.00	(\$15,392.00)
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	192.00	\$375.00	\$72,000.00	\$400.00	\$76,800.00	(\$4,800.00)
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	10.00	\$600.00	\$6,000.00	\$800.00	\$8,000.00	(\$2,000.00)
520.01	CONCRETE CLASS AA	СҮ	52.00	\$850.00	\$44,200.00	\$1,100.00	\$57,200.00	(\$13,000.00)
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	СҮ	32.00	\$1,200.00	\$38,400.00	\$1,600.00	\$51,200.00	(\$12,800.00)
520.02013	CONCRETE CLASS AA, ABOVE FOOTINGS (FULL DECK REPAIR)	CY	3.00	\$1,200.00	\$3,600.00	\$1,400.00	\$4,200.00	(\$600.00)
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	180.00	\$100.00	\$18,000.00	\$100.00	\$18,000.00	\$0.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	62.00	\$80.00	\$4,960.00	\$55.00	\$3,410.00	\$1,550.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	1,924.00	\$24.50	\$47,138.00	\$25.00	\$48,100.00	(\$962.00)
540.511	GALVANIC CORROSION PROTECTION SYSTEM (DISTRIBUTED ANODES)	LF	148.00	\$50.00	\$7,400.00	\$50.00	\$7,400.00	\$0.00
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	1,700.00	\$40.00	\$68,000.00	\$35.00	\$59,500.00	\$8,500.00
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	147.00	\$12.00	\$1,764.00	\$10.00	\$1,470.00	\$294.00
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	2,398.00	\$2.50	\$5,995.00	\$3.00	\$7,194.00	(\$1,199.00)
544.21	REINFORCING STEEL, EPOXY COATED, MECHANICAL CONNECTORS (F)	LB	126.00	\$7.00	\$882.00	\$7.00	\$882.00	\$0.00



43444

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
561.1001	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	74.00	\$1,200.00	\$88,800.00	\$800.00	\$59,200.00	\$29,600.00
561.1002	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	74.00	\$1,200.00	\$88,800.00	\$800.00	\$59,200.00	\$29,600.00
562.1	SILICONE JOINT SEALANT (F)	LF	10.00	\$40.00	\$400.00	\$35.00	\$350.00	\$50.00
604.0007	POLYETHYLENE LINER	EA	4.00	\$250.00	\$1,000.00	\$200.00	\$800.00	\$200.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	4.00	\$700.00	\$2,800.00	\$550.00	\$2,200.00	\$600.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	430.00	\$25.00	\$10,750.00	\$35.00	\$15,050.00	(\$4,300.00)
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	800.00	\$70.00	\$56,000.00	\$75.00	\$60,000.00	(\$4,000.00)
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$4,500.00	\$9,000.00	\$5,000.00	\$10,000.00	(\$1,000.00)
609.5	RESET GRANITE CURB	LF	16.00	\$40.00	\$640.00	\$50.00	\$800.00	(\$160.00)
609.55	RESET GRANITE CURB (BRIDGE)	LF	30.00	\$80.00	\$2,400.00	\$120.00	\$3,600.00	(\$1,200.00)
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	6.00	\$500.00	\$3,000.00	\$600.00	\$3,600.00	(\$600.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$0.00
618.7	FLAGGERS	HR	3,500.00	\$50.00	\$175,000.00	\$50.00	\$175,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$65,000.00	\$65,000.00	\$20,000.00	\$20,000.00	\$45,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$6,500.00	\$13,000.00	\$3,500.00	\$7,000.00	\$6,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$5,500.00	\$11,000.00	\$3,500.00	\$7,000.00	\$4,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	2,910.00	\$3.00	\$8,730.00	\$5.50	\$16,005.00	(\$7,275.00)



43444

				A-Bide	der	PS8		
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
628.22	SAWED BITUMINOUS PAVEMENT (BRIDGE)	LF	690.00	\$3.00	\$2,070.00	\$3.20	\$2,208.00	(\$138.00)
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	29,800.00	\$0.27	\$8,046.00	\$0.50	\$14,900.00	(\$6,854.00)
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	152.00	\$5.50	\$836.00	\$4.00	\$608.00	\$228.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	4,700.00	\$2.50	\$11,750.00	\$2.00	\$9,400.00	\$2,350.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	7,200.00	\$1.20	\$8,640.00	\$1.00	\$7,200.00	\$1,440.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	152.00	\$4.50	\$684.00	\$3.50	\$532.00	\$152.00
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$6,500.00	\$13,000.00	\$4,000.00	\$8,000.00	\$5,000.00
670.95	TEMPORARY SAFETY FENCE	LF	1,620.00	\$4.50	\$7,290.00	\$5.00	\$8,100.00	(\$810.00)
692.	MOBILIZATION	U	1.00	\$137,500.00	\$137,500.00	\$100,000.00	\$100,000.00	\$37,500.00
698.13	FIELD OFFICE TYPE C	MON	9.00	\$900.00	\$8,100.00	\$2,000.00	\$18,000.00	(\$9,900.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00

Total: